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page 13, Equation (1.7)
[ should be A.

page 31, last line
Change 2 to 3, even 4.

page 39, Equation (4.1f)
The minus signs in the numerators should be plus signs.
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page 39, Equation (4.2)

“

Should be moved 9 lines up, to follow “...one equation per crossing.”

page 51, line 2

Change “the time” to “the time and location”.

page 64, Section 6.2.2
Change “a 50-few 100 us” to “50 to a few 100 us”.

page 94, Footnote 1

The footnote is in error, flex is not a GNU package.

page 101, 2" paragraph, line 1

Change “Due to that, secondary isotopes with different A/Z and Bp and will
have different times-of-flight...” to “Due to that, and that secondary isotopes
with different A/Z and Bp have different times-of-flight...”.



